Efficiency vs P,
o T

= 0.4
2 0.09
>
20.08
o
o
20.07
0]
0.06
0.05
0.04
0.03
0.02
0.01

G U ST ST ST

'y

1.0

Ratio
b2
1
¥+
—_——

107 1 10 prT (Ge\})o3

—=— DQM_ttbarPU_mkFit_5iter
—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update
—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

Z0.09

cy vs

efficie

1t

o
o
N

0.06
0.05]
0.04
0.03
0.02
0.01 : : : : :

.....................

TTTT[TTTT I T T TTTI T[T TITr[TI T TITIrTI[oITTT
I I I I I I I I
—

TTTT
—

bl

M
4

Ratio

0.95
=3

Efficiency vs ¢

s 0.1

¢ E - T
L
2 E: : : : : : :
R

FOOTE bt
(0]
0.06Fp iy Fooboeofeovboeeniigrnnigen

#
oot +++ ++#+++++++++++++++++*+++

0.04F
0.03f;
0.02E
0.01E:

n 111 11l 1
o LWII. ] T
= g ] +
@ H TELITI L+ I
x -4 | 114 -4 + 4| |+ -+ -l 14T
B 4 T44 [ 4 +41 144+ 3
11 It H1-F 1414114144
He
- +




	Contents
	Page 1


